# SOLITON SOLUTION FOR NONLINEAR PARTIAL DIFFERENTIAL EQUATIONS BY THE ( $\frac{\mathrm{G}^{\prime}}{\mathrm{G}}$ )-EXPANSION METHOD AND ITS APPLICATIONS <br> K. RASLAN AND ZAIN F. ABU SHAEER* <br> Department of Mathematics, Faculty of Science, Al-Azhar University, Egypt <br> Copyright © 2015 Raslan and Shaeer. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited. 

Abstract: We established a traveling wave solution by the $\left(\frac{\mathrm{G}^{\prime}}{\mathrm{G}}\right)$-expansion method for nonlinear partial differential e: quations (PDEs).The proposed method gives more general exact solutions for four different types of nonlinear partial differential equations such as the modified regularized long wave equation, the improved Korteweg de Vries equation, the two dimension Korteweg de Vries (2D KdV) equations and Coupled equal width wave equations (CEWE).
Keywords: $\left(\frac{\mathrm{G}^{\prime}}{\mathrm{G}}\right)$-expansion method; modified regularized long wave equation; improved Korteweg de Vries equation.

2010 Mathematics Subject Classification: 35Q53, 35Q51.

## 1. Introduction

The nonlinear partial differential equations (NPDEs) are widely used to describe many important phenomena and dynamic processes in physics, chemistry, biology, fluid dynamics, plasma, optical fibers and other areas of engineering. Many efforts have been made to study NPDEs. One of the most exciting advances of nonlinear science and theoretical physics has been a development of methods that look for exact solutions for nonlinear evolution equations. The availability of symbolic computations such as Mathematica or Maple, has popularized direct seeking for exact solutions of nonlinear equations. Therefore, exact solution methods of nonlinear evolution equations have become more and more important resulting in methods like the tanh method [1-3], extended tanh function method [4, 5], the modified extended tanh

[^0]Received April 28, 2015
function method [6], the generalized hyperbolic function [7]. Most of exact solutions have been obtained by these methods, including the solitary wave solutions, shock wave solutions, periodic wave solutions, and the like. In this letter, we propose the extended $\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)$-expansion method to find the exact solutions of the modified regularized long wave (MRLW)equation, the improved Korteweg de Vries (IKdV) equation , the two dimension Korteweg de Vries (2D KdV) equation and Coupled equal width wave equations (CEWE)[12] . In order to illustrate the effectiveness and convenience of the method, we consider the modified regularized long wave equation, the improved Korteweg de Vries ( IKdV) equation and the two dimension Korteweg de Vries (2D $\mathrm{KdV})$ equation.Our main goal in this study is to present the improved $\left(\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}\right)$-expansion method [13-18] for constructing the travelling wave solutions. In section 2 , we describe the $\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)$ expansion method. In section 3, we apply the method to four physically important nonlinear evolution equations.

## 2. Outline of the $\left(\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}\right)$-expansion method

The $\left(\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}\right)$-expansion method will be introduced as presented by A.Hendi [8] and by [13-18].The method is applied to find out an exact solution of a nonlinear ordinary differential equation. Consider the nonlinear partial differential equation in the form

$$
\begin{equation*}
N\left(u, u_{t}, u_{x}, u_{t x}, u_{x x}, \ldots\right)=0 \tag{1}
\end{equation*}
$$

Where $u(\mathrm{x}, \mathrm{t})$ is the solution of nonlinear partial differential equation Eq. (1). We use the transformation, $\xi=(x-c t)$, to transform $u(\mathrm{x}, \mathrm{t})$ to $u(\xi)$ give :

$$
\begin{equation*}
\frac{\partial}{\partial \mathrm{t}}=-\mathrm{c} \frac{\mathrm{~d}}{\mathrm{~d} \xi}, \frac{\partial}{\partial \mathrm{x}}=\frac{\mathrm{d}}{\mathrm{~d} \xi}, \frac{\partial^{2}}{\partial \mathrm{x}^{2}}=\frac{\mathrm{d}^{2}}{\mathrm{~d} \xi^{2}}, \frac{\partial^{3}}{\partial \mathrm{x}^{3}}=\frac{\mathrm{d}^{3}}{\mathrm{~d} \xi^{3}}, \tag{2}
\end{equation*}
$$

and so on, then Eq. (1) becomes an ordinary differential equation

$$
\begin{equation*}
N\left(u,-c u^{\prime}, u^{\prime}, c^{2} u^{\prime \prime},-c u^{\prime \prime}, \ldots \ldots .\right)=0, \tag{3}
\end{equation*}
$$

The solution of Eq.(3) can be expressed by a polynomial in $\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}$

$$
\begin{equation*}
u(\xi)=\sum_{i=-N}^{N} a_{i}\left({\left.\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}\right)^{i},}^{i},\right. \tag{4}
\end{equation*}
$$

Where $G=G(\xi)$ satisfies,

$$
\begin{equation*}
G^{\prime \prime}(\xi)+\lambda G^{\prime}(\xi)+\mu G(\xi)=0, \tag{5}
\end{equation*}
$$

Where $G^{\prime}(\xi)=\frac{d G(\xi)}{d \xi}, G^{\prime \prime}(\xi)=\frac{d^{2} G(\xi)}{d \xi}, a_{i}, \lambda$ and $\mu$ are constants to be determined later, $a_{i} \neq 0$, the unwritten part in (4) is also a polynomial in $\frac{G^{\prime}(\xi)}{G(\xi)}$ ), but the degree of which is generally equal to or less than $m-1$, the positive integer $m$ can be determined by balancing the highest order derivative terms with nonlinear term appearing in Eq.(3). The solutions of Eq.(5) for ( $\frac{G^{\prime}}{G}$ ) can be written in the form of hyperbolic, trigonometric and rational functions as given below[8].

$$
\frac{G^{\prime}(\xi)}{G(\xi)}=\left\{\begin{align*}
& \frac{\sqrt{\lambda^{2}-4 \mu}}{2}\left(\frac{\mathrm{C}_{1} \sinh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)+\mathrm{C}_{2} \cosh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)}{\sqrt{\lambda^{2}-4 \mu}}\right)-\frac{\lambda}{2}, \text { when } \lambda^{2}-4 \mu>0,  \tag{6}\\
& \mathrm{C}_{1} \cos \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)+\mathrm{C}_{2} \sinh \left(\frac{\sqrt{2}}{2}\right) \\
& \frac{\sqrt{4 \mu-\lambda^{2}}}{2}\left(\frac{-\mathrm{C}_{1} \sin \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)+\mathrm{C}_{2} \cos \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)}{\mathrm{C}_{1} \cos \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)+\mathrm{C}_{2} \sin \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)}\right)-\frac{\lambda}{2}, \text { when } \lambda^{2}-4 \mu>0, \\
& \frac{\mathrm{C} 2}{\mathrm{C} 1+\mathrm{C} 2 \xi}-\frac{\lambda}{2}, \text { when } \lambda^{2}-4 \mu=0,
\end{align*}\right.
$$

Where $\mathrm{C}_{1}$ and $\mathrm{C}_{2}$ are integration constants. Inserting Eq.(4) into (3) and using Eq.(5),collecting all terms with the same order $\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}$ together, the left hand side of Eq.(3) is converted into another polynomial in $\left(\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}\right.$ ).Equating each coefficients of this polynomial to zero, yields a set of algebraic equations for $a_{i}, \lambda$, and $\mu$.with the knowledge of the coefficients $a_{i}$ and general solution of Eq.(5) we have more travelling wave solutions of the nonlinear evolution Eq.(1).

## 3. Applications

In order to illustrate the effectiveness of the proposed method four examples in mathematical are chosen as follows

### 3.1 Test problem

3.1.1 The modified regularized long wave (MRLW) equation

Consider the modified regularized long wave equation in the form [9-11]
$u_{t}+u_{x}+\epsilon u^{2} u_{x}-u_{x x t}=0$,
By using the wave variable $\xi=x-c t$ and $u(x, t)=u(\xi))$ then Eq. (7) becomes,
$-c u^{\prime}+u^{\prime}+\epsilon u^{2} u^{\prime}+c u^{\prime \prime \prime}=0$,
Integrating the above equation with respect to $\xi$, we get
$(1-c) u+\frac{\epsilon}{3} u^{3}+c u^{\prime \prime}=0$,

Balancing $u^{3}$ with $u^{\prime \prime}$ gives $m=1$.Thus we suppose solutions of Eq. (7) can be expressed by
$u(\xi)=a_{0}+a_{1}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)$,
By solving this system with the aid of Mathematica we obtain
$a_{0}= \pm \frac{i \sqrt{3} \lambda}{\sqrt{\epsilon} \sqrt{2+\left(\lambda^{2}-4 \mu\right)}}, a_{1}= \pm \frac{2 i \sqrt{3}}{\sqrt{\epsilon} \sqrt{\left(2+\lambda^{2}-4 \mu\right)}} \quad$ and $\quad c=\frac{2}{2+\left(\lambda^{2}-4 \mu\right)}$,
Substituting Eq.(11) into Eq.(10) yields

$$
\begin{equation*}
u(\xi)= \pm \frac{i \sqrt{3} \lambda}{\sqrt{\epsilon} \sqrt{2+\left(\lambda^{2}-4 \mu\right)}} \pm \frac{2 i \sqrt{3}}{\sqrt{\epsilon} \sqrt{\left(2+\lambda^{2}-4 \mu\right)}}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right) \tag{12}
\end{equation*}
$$

Where $\quad \xi=x-\frac{2 t}{2+\left(\lambda^{2}-4 \mu\right)}$, With the knowledge of the solution of Eq.(5), we have three types of travelling wave solutions of Eq.(7) as

The first type: when $\lambda^{2}-4 \mu>0$,

$$
\begin{equation*}
u_{1}(\xi)=\left( \pm \frac{i \sqrt{3} \sqrt{\lambda^{2}-4 \mu}}{\left.\sqrt{\epsilon} \sqrt{2+\left(\lambda^{2}-4 \mu\right.}\right)}\right)\left(\frac{C_{1} \sinh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)+C_{2} \cosh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)}{C_{1} \cosh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)+C_{2} \sinh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)}\right), \tag{13}
\end{equation*}
$$

The behavior of the solutions absolute $u_{1}(x, t)$ and $i u_{1}(x, t)$ for MRLW equation in Figures $(1,2)$

$\operatorname{Fig}(1), \mathrm{C}_{1}=1, \mathrm{C}_{2}=2, \lambda=50$, and $\mu=1$

The second type: when $\quad \lambda^{2}-4 \mu<0$,

$$
\begin{equation*}
u_{2}(\xi)=\left( \pm \frac{i \sqrt{3} \sqrt{4 \mu-\lambda^{2}}}{\sqrt{\epsilon\left(2+\lambda^{2}-4 \mu\right)}}\right)\left(\frac{\mathrm{C}_{1} \sin \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)-\mathrm{C}_{2} \cos \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)}{\mathrm{C}_{1} \cos \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)+\mathrm{C}_{2} \sin \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)}\right) \tag{14}
\end{equation*}
$$

The behavior of the solutions absolute $u_{2}(x, t)$ and $i u_{2}(x, t)$ are shown in Figure(2)


$\operatorname{Fig}(2), C_{1}=2, C_{2}=4, \lambda=50$, and $\mu=1$

The Third type: when $\lambda^{2}-4 \mu=0$

$$
\begin{equation*}
u_{3}(\xi)=\frac{2 i \sqrt{3}}{\sqrt{2 \epsilon}}\left(\frac{C_{2}}{C_{1}+C_{2} \xi}\right), \tag{15}
\end{equation*}
$$

3.1.2. The improved Korteweg de Vries (IKdV) equation

We Consider the IKdV equation in the form [11]

$$
\begin{equation*}
u_{t}+\epsilon u u_{x}+\beta u_{x x x}-\delta u_{x x t}=0 \tag{16}
\end{equation*}
$$

We make the transformation
$u(x, t)=u(\xi), \xi=x-c t$,
Eq. (16) becomes
$-c u^{\prime}+\epsilon u u^{\prime}+\beta u^{\prime \prime \prime}+\delta c u^{\prime \prime \prime}=0$,
Integrating the above equation with respect to $\xi$, we get
$-c u+\frac{\epsilon}{2} u^{2}+(\beta+\delta c) u^{\prime \prime}=0$,
Balancing $u^{2}$ with $u^{\prime \prime}$ gives $m=2$. thus we suppose solutions of Eq. (18) can be expressed by
$u(\xi)=a_{0}+a_{1}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)+a_{2}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)^{2}$,
Where $a_{0}, a_{1}, a_{2}$ are constants, Substituting Eq.(20) into Eq.(19), collecting the coefficients of $\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)$ we obtain a set of algebraic equations for $a_{0}, a_{1}, a_{2}$ and $c$, and solving this system we obtain the two sets of solutions as

Case (1)

$$
\begin{equation*}
a_{0}=-\frac{2 \beta\left(\lambda^{2}+2 \mu\right)}{\epsilon\left(1+\delta\left(\lambda^{2}-4 \mu\right)\right)}, a_{1}=-\frac{12 \beta \lambda}{\epsilon\left(1+\delta\left(\lambda^{2}-4 \mu\right)\right)}, a_{2}=-\frac{12 \beta}{\epsilon\left(1+\delta\left(\lambda^{2}-4 \mu\right)\right)}, \text { and } c=\frac{-\beta\left(\lambda^{2}-4 \mu\right)}{1+\delta\left(\lambda^{2}-4 \mu\right)} \tag{21}
\end{equation*}
$$

Case (2)

$$
\begin{equation*}
a_{0}=\frac{12 \beta \mu}{\epsilon\left(-1+\delta\left(\lambda^{2}-4 \mu\right)\right)}, a_{1}=\frac{12 \beta \lambda}{\epsilon\left(-1+\delta\left(\lambda^{2}-4 \mu\right)\right)}, a_{2}=\frac{12 \beta}{\epsilon\left(-1+\delta\left(\lambda^{2}-4 \mu\right)\right)}, \text { and } \quad c=\frac{-\beta\left(\lambda^{2}-4 \mu\right)}{-1+\delta\left(\lambda^{2}-4 \mu\right)} \tag{22}
\end{equation*}
$$

By using Eq.(21), Eq.(20)can written as

$$
\begin{equation*}
u(\xi)=-\frac{2 \beta\left(\lambda^{2}+2 \mu\right)}{\epsilon\left(1+\delta\left(\lambda^{2}-4 \mu\right)\right)}-\frac{12 \beta \lambda}{\epsilon\left(1+\delta\left(\lambda^{2}-4 \mu\right)\right)}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)-\frac{12 \beta}{\epsilon\left(1+\delta\left(\lambda^{2}-4 \mu\right)\right)}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)^{2} \tag{23}
\end{equation*}
$$

or by using Eq.(22),Eq.(20)can written as

$$
\begin{equation*}
u(\xi)=\frac{12 \beta \mu}{\epsilon\left(-1+\delta\left(\lambda^{2}-4 \mu\right)\right)}+\frac{12 \beta \lambda}{\epsilon\left(-1+\delta\left(\lambda^{2}-4 \mu\right)\right)}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)+\frac{12 \beta}{\epsilon\left(-1+\delta\left(\lambda^{2}-4 \mu\right)\right)}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)^{2} \tag{24}
\end{equation*}
$$

We have three types of travelling wave solutions of the IKdV equation as
The first type: when $\lambda^{2}-4 \mu>0, \quad u_{1}(\xi)=$
$\left(\frac{3 \beta\left(4 \mu-\lambda^{2}\right)}{\epsilon\left(1+\delta\left(\lambda^{2}-4 \mu\right)\right)}\right)\left(\left(\frac{\mathrm{C}_{1} \sinh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)+\mathrm{C}_{2} \cosh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)}{\mathrm{C}_{1} \cosh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)+\mathrm{C}_{2} \sinh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)}\right)^{2}-\frac{1}{3}\right), ~, ~, ~$
Where $\quad \xi=x+\frac{\beta\left(\lambda^{2}-4 \mu\right)}{1+\delta\left(\lambda^{2}-4 \mu\right)} t$, or

$$
\begin{equation*}
u_{2}(\xi)=\left(\frac{3 \beta\left(4 \mu-\lambda^{2}\right)}{\epsilon\left(-1+\delta\left(\lambda^{2}-4 \mu\right)\right)}\right)\left(1-\left(\frac{C_{1} \sinh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)+C_{2} \cosh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)}{C_{1} \cosh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)+C_{2} \sinh \left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)}\right)^{2}\right) \tag{26}
\end{equation*}
$$

Where $\xi=x+\frac{\beta\left(\lambda^{2}-4 \mu\right)}{1-\delta\left(\lambda^{2}-4 \mu\right)} t$,
The second type: when $\lambda^{2}-4 \mu<0$,

$$
\begin{equation*}
\left.u_{3}(\xi)=\left(\frac{-3 \beta\left(4 \mu-\lambda^{2}\right)}{\epsilon\left(1+\delta\left(\lambda^{2}-4 \mu\right)\right)}\right)\left(\frac{-C_{1} \sin \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)+C_{2} \cos \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)}{C_{1} \cos \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)+C_{2} \sin \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)}\right)^{2}+\frac{1}{3}\right) \tag{27}
\end{equation*}
$$

Where $\xi=x+\frac{\beta\left(\lambda^{2}-4 \mu\right)}{1+\delta\left(\lambda^{2}-4 \mu\right)} t$, or

$$
\begin{equation*}
u_{4}(\xi)=\left(\frac{3 \beta\left(4 \mu-\lambda^{2}\right)}{\epsilon\left(-1+\delta\left(\lambda^{2}-4 \mu\right)\right)}\right)\left(\left(\frac{-C_{1} \sin \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)+C_{2} \cos \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)}{C_{1} \cos \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)+C_{2} \sin \left(\frac{\sqrt{4 \mu-\lambda^{2}}}{2} \xi\right)}\right)^{2}+1\right) \tag{28}
\end{equation*}
$$

Where $\xi=x-\frac{\beta\left(\lambda^{2}-4 \mu\right)}{1-\delta\left(\lambda^{2}-4 \mu\right)} t$,


$\operatorname{Fig}(3)$ for IKdV equation where $\mathrm{C}_{1}=2, \mathrm{C}_{2}=4, \lambda=150$, and $\mu=1, \beta=2, \beta=1$;
The Third type: when $\lambda^{2}-4 \mu=0$

$$
\begin{equation*}
u_{5}(\xi)=\frac{-12 \beta}{\epsilon}\left(\frac{c 2}{C 1+C 2 \xi}\right)^{2}, \quad \text { Where } \xi=x-\frac{\beta\left(\lambda^{2}-4 \mu\right)}{1-\delta\left(\lambda^{2}-4 \mu\right)} t \tag{29}
\end{equation*}
$$

### 3.13. The two dimension Korteweg de Vries (2D KdV) equation [11]

Consider the two dimensions Korteweg de Vries in the form

$$
\begin{equation*}
\left(u_{t}-\epsilon u u_{x}+u_{x x x}\right)_{x}+3 u_{y y}=0 \tag{30}
\end{equation*}
$$

Put $u(x, t)=u(\xi), \xi=x+\beta y-c t$, Eq. (30) become

$$
\begin{equation*}
\left(3 \beta^{2}-c\right) u^{\prime \prime}-\epsilon\left(u u^{\prime}\right)^{\prime}+u^{\prime \prime \prime \prime}=0 \tag{31}
\end{equation*}
$$

Integrating the above equation with respect to $\xi$, we get

$$
\begin{equation*}
\left(3 \beta^{2}-c\right) u-\frac{\epsilon}{2} u^{2}+u^{\prime \prime}=0 \tag{32}
\end{equation*}
$$

Balancing $u^{2}$ with $u^{\prime \prime}$ gives $m=2$. thus we suppose solutions of Eq. (30) can be expressed by

$$
\begin{equation*}
u(\xi)=a_{0}+a_{1}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)+a_{2}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)^{2} \tag{33}
\end{equation*}
$$

Where $a_{0}, a_{1}, a_{2}$ are constants, Substituting Eq.(33) into Eq.(32),collecting the coefficients of $\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)$ we obtain a set of algebraic equations for $a_{0}, a_{1}, a_{2}$ and $c$, and solving this system we obtain the two sets of solutions as

Case (1)

$$
\begin{equation*}
a_{0}=\frac{12 \mu}{\epsilon}, a_{1}=\frac{12 \lambda}{\epsilon}, a_{2}=\frac{12}{\epsilon} \text { and } c=3 \beta^{2}+\lambda^{2}-4 \mu, \tag{34}
\end{equation*}
$$

## Case (2)

$$
\begin{equation*}
a_{0}=\frac{2\left(\lambda^{2}+2 \mu\right)}{\epsilon}, \quad a_{1}=\frac{12 \lambda}{\epsilon}, \quad a_{2}=\frac{12}{\epsilon}, c=3 \beta^{2}-\lambda^{2}+4 \mu, \tag{35}
\end{equation*}
$$

By using Eq.(34)and Eq(35),Eq.(33) can written as

$$
\begin{align*}
& u_{1}(\xi)=\frac{12 \mu}{\epsilon}+\frac{12 \lambda}{\epsilon}\left(\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}\right)+\frac{12}{\epsilon}\left(\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}\right)^{2}, \text { or }  \tag{36}\\
& u_{2}(\xi)=\frac{2\left(\lambda^{2}+2 \mu\right)}{\epsilon}+\frac{12 \lambda}{\epsilon}\left(\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}\right)+\frac{12}{\epsilon}\left(\frac{\mathrm{G}^{\prime}(\xi)}{\mathrm{G}(\xi)}\right)^{2}, \tag{37}
\end{align*}
$$

With the knowledge of the solution of Eq.(5) and Eqs.(36-37), we have three types of travelling wave solutions of the Eq.(30) as
The first type: when $\quad \lambda^{2}-4 \mu>0$,

$$
\begin{equation*}
u_{1}(\xi)=-\frac{3\left(\mathrm{C}_{1}^{2}-\mathrm{C}_{2}^{2}\right)\left(\lambda^{2}-4 \mu\right)}{\epsilon\left(\mathrm{C}_{1} \operatorname{Cosh}\left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)+\mathrm{C}_{2} \operatorname{Sinh}\left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)\right)^{2}}, \tag{38}
\end{equation*}
$$

Where $\quad \xi=x+\beta y-\left(3 \beta^{2}+\lambda^{2}-4 \mu\right) t$, or

$$
\begin{equation*}
u_{2}(\xi)=\frac{\left(\lambda^{2}-4 \mu\right)}{\epsilon}\left(2-\frac{3\left(\mathrm{C}_{1}^{2}-\mathrm{C}_{2}^{2}\right)}{\left(\mathrm{C}_{1} \operatorname{Cosh}\left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)+\mathrm{C}_{2} \operatorname{Sinh}\left(\frac{\sqrt{\lambda^{2}-4 \mu}}{2} \xi\right)\right)^{2}}\right), \tag{39}
\end{equation*}
$$

Where $\xi=x+\beta y-\left(3 \beta^{2}-\lambda^{2}+4 \mu\right) t$
The second type: when $\lambda^{2}-4 \mu<0$

$$
\begin{equation*}
u_{3}(\xi)=\frac{\left(\lambda^{2}-4 \mu\right)}{\epsilon}\left(2-\frac{3\left(\mathrm{C}_{1}^{2}+\mathrm{C}_{2}^{2}\right)}{\left(\mathrm{C}_{1} \operatorname{Cos}\left(\frac{1}{2} \sqrt{-\lambda^{2}+4 \mu}\right)+\mathrm{C}_{2} \operatorname{Sin}\left(\frac{1}{2} \sqrt{-\lambda^{2}+4 \mu} \xi\right)\right)^{2}}\right), \tag{40}
\end{equation*}
$$

Where $\xi=x+\beta y-\left(3 \beta^{2}+\lambda^{2}-4 \mu\right) t$, or

$$
\begin{equation*}
u_{4}(\xi)=-\frac{3\left(\mathrm{C}_{1}^{2}+\mathrm{C}_{2}^{2}\right)\left(\lambda^{2}-4 \mu\right)}{\epsilon\left(\mathrm { C } _ { 1 } \operatorname { C o s } \left(\frac{1}{2} \sqrt{\left.\left.-\lambda^{2}+4 \mu \xi\right)+\mathrm{C}_{2} \operatorname{Sin}\left(\frac{1}{2} \sqrt{-\lambda^{2}+4 \mu} \xi\right)\right)^{2}},\right.\right.} \tag{41}
\end{equation*}
$$

Where $\xi=x+\beta y-\left(3 \beta^{2}-\lambda^{2}+4 \mu\right) t$
The Third type: when $\lambda^{2}-4 \mu=0$,

$$
\begin{equation*}
u_{5}(\xi)=\frac{12 \mathrm{C}_{2}^{2}}{\epsilon\left(\mathrm{C}_{2}+\mathrm{C}_{2} \xi\right)^{2}}, \tag{42}
\end{equation*}
$$

Where $\xi=x+\beta y-3 \beta^{2} t$,

The behavior of the solutions $u_{3}(x, t)$ and $i u_{3}(x, t)$ for 2DKdV equation are shown in Figure(4)

$\operatorname{Fig}(4) \mathrm{C}_{1}=2, \mathrm{C}_{2}=4, \lambda=3$, and $\mu=1$,

### 3.1.4 . Coupled equal width wave equation (CEWE)[12]

In this case we consider the coupled equal width wave equations, in the normalized form

$$
\begin{equation*}
u_{t}+u u_{x}-u_{x x t}+v v_{x}=0, \quad v_{t}+v v_{x}-v_{x x t}=0 \tag{43}
\end{equation*}
$$

We put $u(x, t)=u(\xi), v(x, t)=v(\xi)$, and $\xi=x-c t$ Eq. (43) become

$$
\begin{equation*}
-c u^{\prime}+u u^{\prime}+c u^{\prime \prime \prime}+v v^{\prime}=0, \quad \text { and }-c v^{\prime}+v v^{\prime}+c v^{\prime \prime \prime}=0 \tag{44}
\end{equation*}
$$

Integrating the above equation we get

$$
\begin{equation*}
c u^{\prime \prime}+\frac{1}{2}\left(u^{2}+v^{2}\right)-c u=0, \quad \text { and } c v^{\prime \prime}+\frac{1}{2} v^{2}-c v=0, \tag{45}
\end{equation*}
$$

Balancing $u^{2}$ with $u^{\prime \prime}$ gives $m=2$. thus we suppose solutions of Eq. (43) can be expressed by

$$
\begin{align*}
& u(\xi)=a_{0}+a_{1}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)+a_{2}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)^{2} \\
& v(\xi)=b_{0}+b_{1}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)+b_{2}\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)^{2} \tag{46}
\end{align*}
$$

Substituting Eq.(46) into Eq.(45) and solving this system we obtain the two sets of solutions as
Case (1)

$$
\begin{align*}
& a_{0}=\frac{3}{2}(1+i \sqrt{3}) c\left(1-\lambda^{2}\right), a_{1}=-6 c \lambda(1+i \sqrt{3}),, a_{2}=-6 c(1+i \sqrt{3}) \\
& b_{0}=3 c\left(1-\lambda^{2}\right) ; b_{1}=-12 c \lambda ; b_{2}=-12 c ; \text { and } \mu=\frac{1}{4}\left(-1+\lambda^{2}\right) \tag{47}
\end{align*}
$$

Case (2)

$$
\begin{align*}
& a_{0}=-\frac{1}{2}(1+i \sqrt{3}) c\left(1+3 \lambda^{2}\right), a_{1}=-6 c \lambda(1+i \sqrt{3}), a_{2}=-6 c(1+i \sqrt{3}), \\
& b_{0}=-c\left(1+3 \lambda^{2}\right) ; b_{1}=-12 c \lambda ; b_{2}=-12 c ; \text { and } \mu=\frac{1}{4}\left(1+\lambda^{2}\right), \tag{48}
\end{align*}
$$

By using Eq.(47),Eq.(46)can written as

$$
\begin{align*}
& u(x, t)=\frac{3}{2}(1+i \sqrt{3}) c\left(1-\lambda^{2}\right)-6 c \lambda(1+i \sqrt{3})\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)-6 c(1+i \sqrt{3})\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)^{2}, \\
& v(x, t)=3 c\left(1-\lambda^{2}\right)-12 c \lambda\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)-12 c\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)^{2}, \tag{49}
\end{align*}
$$

or by using Eq.(48),Eq.(46)can written as

$$
\begin{align*}
& u(x, t)=-\frac{1}{2}(1+i \sqrt{3}) c\left(1+3 \lambda^{2}\right)-6 c \lambda(1+i \sqrt{3})\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)-6 c(1+i \sqrt{3})\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)^{2}, \\
& v(x, t)=-c\left(1+3 \lambda^{2}\right)-12 c \lambda\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)-12 c\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)^{2}, \tag{50}
\end{align*}
$$

We have two types of travelling wave solutions of the CEWE equation as
The first type: when $\lambda^{2}-4 \mu>0$

$$
\begin{align*}
& u_{1}(x, t)=\frac{6 c(1+i \sqrt{3})\left(\mathrm{C}_{1}^{2}-\mathrm{C}_{2}^{2}\right) e^{c t+x}}{\left[\left(C_{1}-C_{2}\right) e^{c t}+\left(C_{1}+C_{2}\right) e^{x}\right]^{2}}, \\
& v_{1}(x, t)=\frac{3 c\left(\mathrm{C}_{1}^{2}-\mathrm{C}_{2}^{2}\right)}{\left[C_{1} \cosh \left(\frac{1}{2}(x-c t)\right)+C_{2} \sinh \left(\frac{1}{2}(x-c t)\right)\right]^{2}}, \tag{51}
\end{align*}
$$

or

$$
\begin{align*}
& u_{2}(x, t)=\frac{(1-i \sqrt{3}) c\left[\left(\mathrm{C}_{1}^{2}+\mathrm{C}_{2}^{2}\right) \cos (x-c t)-2\left(\mathrm{C}_{1}^{2}-\mathrm{C}_{2}^{2}-i C_{1} C_{2} \sin (x-c t)\right)\right]}{2\left(C_{1} \cos \left(\frac{1}{2}(x-c t)\right)-i C_{2} \sin \left(\frac{1}{2}(x-c t)\right)\right]^{2}} \\
& v_{2}(x, t)=\left(2 c+\frac{3 c\left(C_{1}^{2}-C_{2}^{2}\right)}{\left[i C_{1} \cos \left(\frac{1}{2}(x-c t)\right)-C_{2} \sin \left(\frac{1}{2}(x-c t)\right)\right]^{2}}\right), \tag{52}
\end{align*}
$$

The second type: when $\lambda^{2}-4 \mu<0$,
$u_{3}(x, t)=\frac{3(1-i \sqrt{3}) c\left(C_{1}^{2}+C_{2}^{2}\right)}{2\left[C_{1} \cosh \left(\frac{1}{2}(x-c t)\right)-i C_{2} \sinh \left(\frac{1}{2}(x-c t)\right)\right]^{2}}$,
$v_{3}(x, t)=\frac{3 c\left(C_{1}^{2}+C_{2}^{2}\right)}{\left[C_{1} \cosh \left(\frac{1}{2}(x-c t)\right)-i C_{2} \sinh \left(\frac{1}{2}(x-c t)\right]^{2}\right.}, \quad$ or
$u_{4}(x, t)=\frac{(1-i \sqrt{3}) c\left(\left(C_{1}^{2}-C_{2}^{2}\right) \cos [c t-x]-2\left(\mathrm{C1}^{2}+\mathrm{C} 2^{2}+\mathrm{C} 1 \mathrm{C} 2 \sin [c t-x]\right)\right)}{2\left[C_{1} \cos \left(\frac{1}{2}(x-c t)\right)-C_{2} \sin \left(\frac{1}{2}(x-c t)\right)\right]^{2}}$,
$v_{4}(x, t)=c\left(2-\frac{3\left(C_{1}^{2}+C_{2}^{2}\right)}{\left(C_{1} \cos \left(\frac{1}{2}(x-c t)\right)+C_{2} \sin \left(\frac{1}{2}(x-c t)\right)\right)^{2}}\right)$,
The behavior of the solutions $u_{3}(x, t)$ and $v_{3}(x, t)$ for CEWE equation are shown in Fig.(5)

$\operatorname{Fig}(5) C_{1}=2, C_{2}=1, \lambda=5$, and $c=1 / 50$,

## 4. Conclusion

In this letter the $\left(\frac{G^{\prime}(\xi)}{G(\xi)}\right)$-expansion method was applied successfully for solving some solitary wave equations in one and two dimensions. Four equations which are the MRLW, IKdV , 2D KdV and CEWE equations have been solved exactly. As a result, many exact solutions are obtained which include the hyperbolic functions, trigonometric functions and rational functions. It is worthwhile to mention that the proposed method is reliable and effective and gives more solutions. The method can also be efficiently used to construct new and more exact solutions for some other generalized nonlinear wave equations arising in mathematical physics.

## Conflict of Interests

The authors declare that there is no conflict of interests.

## REFERENCES

[1] Abdul-Majid Wazwaz. Solitary wave solutions of the generalized shallow water wave (GSWW) equation by Hirota's method, tanh-coth method and Exp-function method, Appl. Math. Comput., 202 (2008),275-286.
[2] Khater, A.H., Malfiet, W., Callebaut, D.K., Kamel, E.S. The tanh method, a simple transformation and exact analytical solutions for nonlinear reaction-diffusion equations.Chaos Solitons Fractals, 1(4)(2002), 513-522.
[3] Evans, D.J., Raslan, K.R. The tanh function method for solving some important nonlinear partial differential equation.Int. J. Comput. Math, 82(7) (2005), 897-905.
[4] Fan, E. Extended tanh-function method and its applications to nonlinear equations. Phys. Lett.,A 277 (2000), 212-218.
[5] Fan, E.Traveling wave solutions for generalized Hirota-Satsuma coupled KdV systems. Z. Naturforsch, A 56 (2001), 312-318.
[6] Elwakil, S.A., El-Labany, S.K., Zahran, M.A., Sabry, R. Modified extended tanh-function method for solving nonlinear partial differential equations. Phys. Lett., A 299 (2002) 179-188.
[7] Gao, Y.T., Tian, B. Generalized hyperbolic-function method with computerized symbolic computation to construct the solitonic solutions to nonlinear equations of mathematical physics. Comput. Phys. Commun., 133(2001), 158-164.
[8] M A Abdou, A.Hendi , Mirvet Al-Zumaie.On the extended $\left(\frac{\mathrm{G}^{\prime}}{\mathrm{G}}\right)$-expansion method and its applications Int. J. Comput. Math., 3(3)( 2011): 193-199.
[9] K. Khalifa, K. R. Raslan, H. M. Alzubaidi. A finite difference scheme for the MRLW and solitary wave interactions. Appl. Math. Comput., 189(2007), 346-354.
[10] D. Kaya. A numerical simulation of solitary-wave solutions of the generalized long-wave equation. Appl. Math. Comput. 149(3)(2004), 833-841.
[11] K. R. Raslan. Exact solitary wave solutions of equal width wave and related equations using a direct algebraic method. I.J. N. Science, 6(3)(2008),246-254.
[12] A.H.A. Ali a, K.R. Soliton solution for nonlinear partial differential equations by cosine-function method, Physics Letters, A 368 (2007) 299-304.
[13] Xiaohua Liu,Weiguo Zhang and Zhengming Li.Application of improved ( $\frac{\mathrm{G}^{\prime}}{\mathrm{G}}$ )-expansion method to traveling wave solutions of two nonlinear evolution equations. Advances in Applied Mathematics and Mechanics,4(1)(2012), 122-130.
[14] M. Shakeel and S. Tauseef-Din. Improved ( $\frac{\mathrm{G}^{\prime}}{\mathrm{G}}$ )-expansion method for Burger's, Zakharov- Kuznetsov (ZK) and Boussinesq equations, Int. J. M. Math. Sci., 6(3)( 2013) 160-173.
[15] M. Shakeel and S. Tauseef Exact Solutions of $(3+1)$-dimensional Potential-YTSF equation by improved ( $\frac{\mathrm{G}^{\prime}}{\mathrm{G}}$ )expansion method and the extended Tanh-method, Annals of Pure and Applied Mathematics, 4(2)( 2013), 160171
[16] M.Ali, S. Tauseef .An alternative $\left(\frac{\mathrm{G}^{\prime}}{\mathrm{G}}\right)$-expansion method with generalized Riccati equation: Application to fifth order (1+1)-dimensional Caudrey-Dodd-Gibbon equation, open Journal of Mathematical Modeling. 2013; 1(5):173-183.
[17] Junchao Chen.and Bio Li .Multiple $\left(\frac{\mathrm{G}^{\prime}}{\mathrm{G}}\right)$-expansion method and its applications to nonlinear evolution equations in mathematical physics. Indian Academy of Sci., 78(3)( 2012), 375-388.


[^0]:    *Corresponding author

